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Chapter 5

1. On p. 63, the penultimate sentence of the first paragraph should read: ”In this case the . . . recovery
time (divided by [1 + (g2/g1)](I/Is)).” I.e. the right-hand square bracket is in the wrong place.

2. The right-hand side of eqn (5.40) should read N∗σ21I.

3. The lowest level in Fig. 5.11 should be labelled “1”, not “0”.

4. In Exercise 5.9(b) the given result should read:
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i.e. on the RHS the subscript to αD(0) should be ‘0’ not ‘I’.

Chapter 6

1. In Eqn (6.2) the final term on the left-hand side should be
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,

i.e. Lz not Lx.

2. The mirror radii given in Exercise 6.11(f) are normalized values.

3. In Exercise 6.12(d) the term ∆δ1/2 should be replaced by
∆δ1/2

2 so that the question reads: “Show that
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Chapter 8

1. In eqn(8.39) the term Nth should be replaced by N∗th to read,

Pp = . . .
N∗th~ωLVg

βτc
(r − 1− ln r)

2. Sidenote 28 on page 216 should refer to Fig 8.10(a).

3. The first sentence of Exercise 8.6(b) the word “diameter” should be deleted so that it reads: “Suppose
that within the Ti:sapphire crystal the beam is focused to a spot size w = 50µm.”

Chapter 10

1. The condition given in the problem is incorrect, it should be “provided that β2r2
0 � 1, not ‘provided

L� βr2
0’.
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Chapter 14

1. In Exercise (14.1)(a) the required result should be ε(λ) = 2.615× 1020σa(λ).

Chapter 15

1. LHS each of the equations (15.82) (15.83) and (15.84) as stated in the book should read: 1
2ε0
PNL
x ,

1
2ε0
PNL
y , and 1

2ε0
PNL
z respectively.

2. The LHS of the eqn (15.86) should read PNL(2ω)
2ε0

.

Chapter 16

1. In Fig. 16.11 the top figure should be labelled (a) and the bottom figure (b).

2. On page 453 the reference to Fig. 16.11(c) should be to Fig. 16.11(b).

3. In Exercise 16.2(c), the two minus signs on the right-hand sides of eqn(16.42) should be deleted.

4. In Exercise 16.4(e), the RHS of eqn (16.57) should be multiplied by a factor of exp(iφ3).

5. In Exercise 16.6, the first line of eqn(16.66) should be

Rsp =
N2/N

∗

n̄+N2/N∗
n̄

τc
.

The second line is correct.

Chapter 17

1. In Table 17.1, the symbol for TOD should be φ(3) not φ(2).

2. The term I(z) should be removed from eqn (17.35) and from the first (but not the second) term on
the right-hand side of eqn (17.36).

3. In Exercise 17.4(b), assume the thickness of the BK7 window to be 10 mm.

4. In Exercise 17.7(d) the result should be,

a(z)→ a0[
2b0φ(2)

]2 .
5. In Exercise 17.11(d) the required result should be,
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.

Chapter 18

1. Problem 18.5(d): the expression given for the intensity is incorrect, it should be I = (µ0c)
−1E2.

Appendix C

1. There is a factor of 2 missing on RHS of eqn (C.1). This equation should read,
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